Reading: Reads simple, everyday texts adequately (20%)

Step 1: For each criterion check the statement(s) that best correspond(s) to the adult’s response.
Step 2: In the last column, indicate the mark that corresponds to the rating you have given. Only the marks shown may be attributed.
CRITERIA RATE SCALE
EXCELLENT VERY GOOD GOOD WEAK VERY WEAK MARK
The letter includes all | The letter includes three | The letter includes two The letter includes one /5
four health benefits of the health benefits of the health benefits of the health benefits —
Demonstrate found in the text. found in the text. found in the text. found in the text
understanding of
specific details The letter includes all | The letter includes The letter includes at The letter includes The letter includes one
in awritten text six societal benefits five of the societal least three of the two of the societal of the societal benefits
(15%) found in the text. benefits found in the societal benefits found benefits found in the found in the text. 10
text. in the text. text. —/
: - The letter includes a The letter includes The letter includes The letter includes The letter includes no
!de“t'fthp":'O’t‘s thorough explanation | the author's opinion. | some information about | very little information | information about the
in awrésg)‘ ex of the author’s the author’s opinion. about the author’'s author’s opinion.
opinion. opinion.
/5

MARK FOR EVALUATION OF READING: /20




Listening: Understands simple, everyday oral texts adequately (20%)
For each criterion check the statement(s) that best correspond(s) to the adult’s response.
In the last column, indicate the mark that corresponds to the rating you have given. Only the marks shown may be attributed.

Step 1:
Step 2:

Writing: Writes simple, everyday texts adequately (30%)

Step 1:
Step 2:

an oral text
(20%)

in the video.

mentioned in the
video

the video

mentioned in the
video

mentioned in the video

RATE SCALE
CRITERIA EXCELLENT VERY GOOD SATISFACTORY WEAK VERY WEAK NOTE
1.1
Demonstrate The letter includes all | The letter includes The letter includes six of | The letter includes The letter includes only
understanding of ten steps mentioned eight of the steps the steps mentioned in four of the steps three of the steps
specific details in /20

For each criterion check the statement(s) that best correspond(s) to the adult’s response.
In the last column, indicate the mark that corresponds to the rating you have given. Only the marks shown may be attributed.

MARK FOR EVALUATION OF LISTENING:

/20




RATE SCALE

CRITERIA EXCELLENT VERY GOOD SATISFACTORY WEAK VERY WEAK NOTE
The writer very clearly states | The writer states the The reason why the letter | The two elements One of the two
Provide clear and the reason why the letter reason why the letter | was written and a (reason for the letter elements is not
relevant information was written and explicitly was written and reference to the proposal | and proposal) are part | mentioned and the
appropriate to the informs that a proposal must | informs that a are both present in the of the letter but they other is not clearly
situation be made to the borough. proposal must be letter. Nevertheless, they | are unclear. stated. __/5
made to the borough. | are stated without
(5%) sufficient elaboration.
The writer includes adequate | The writer includes The three elements are One of the three Two of the elements
s e Tl greeting and closing greeting and closing present. They are stated | elements may be are not present and the
SOOI A 8 (11 statements and thoroughly statements. There is in somewhat simple missing. They are other one is not clearly
purpose and text type indicates where the also a mention of terms. rather unclear. stated.
inspiration to write the letter | What inspired the
came from. letter. The use of language and The writer makes little
(5%) tone has problems, and The use of language to no attempt to
The use of language and The use of language the reader may have and tone has serious persuade the readerto | —/5
tone is such that the reader | and tone has some some doubts about problems, and the support and join a
is fully persuaded to support | minor flaws, but the supporting and joining a | readeris notpersuaded | community garden.
and join a community reader is still persuaded | community garden. to support and join a
garden. to support and join a community garden.
community garden.
The writer's sentences The writer's The writer's sentences The writer makes a The writer makes little
include a variety of syntactic | sentences include contain some grammar significant number of | to no attempt to use
Apply rules of grammar | features, such as appropriate | some syntactic errors. errors in language grammar correctly.
S verb tenses, modal verbs, features, such as usage.
(5%) —/5

and a combination of
dependent and independent
clauses.

appropriate verb
tenses, and some
independent clauses.




MARK FOR EVALUATION OF WRITING: /30



Speaking: Interacts adequately in everyday situations using simple oral texts (30%)

Step 1: For each criterion check the statement(s) that best correspond(s) to the adult’s response.
Step 2: In the last column, indicate the mark that corresponds to the rating you have given. Only the marks shown may be attributed.
RATE SCALE
CRITERIA EXCELLENT VERY GOOD SATISFACTORY WEAK VERY WEAK NOTE
1.1
Content AII five section; were | Most pf the sections Somg of the sections Only a couple of the Only one of the
(10%) included (location and | were included. The were included. sections were sections was included.
reasons for its choice, | presentation. included.
reasons for starting a
community garden, /10
personal opinions, —
and goal of the
project).
Use vocabulary TI_1e speaker_ uses a The speaker uses a The speak_er uses a The spgaker’s _ The spt_aaker’s _
appropriate to the wide repertoire of reasonable repertoire | rather basic repertoire repertoire of words is | repertoire of words is
situation words and chunks to of words and chunks words and chunks to limited. very limited
express his ideas. to express his ideas. express his message.
; : Communication has Communication breaks
Sustain conversation by T T L . L
responding suitably to Communlcatlon flows Communlqatlon tends | Communication has problems. Responses | and there is no fluidity.
the other speaker logically and to flow logically and some problems. to the arguments Responses to the
effectively. The effectively. The Responses to the presented by the arguments presented
speaker responds to speaker responds to arguments presented by interlocutor are rather | by the interlocutor lack
(10%) arguments presented | most arguments the interlocutor are confusing. Few logic and organization.
by the interlocutor in presented by the sometimes illogical and attempts are made to | No attempts are made
an effective manner. interlocutor in a rather | confusing. Some repair communication | to repair
All communication effective manner. attempts are made to breakdowns. communication _/10
breakdowns are Most communication repair communication breakdowns.
repaired. breakdowns are breakdowns.
repaired




CRITERIA

Tables 17-20: Rubrics samples
MARK FOR EVALUATION OF SPEAKING: /30



